Linearized knot diagam

Solving Sequence
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A knot diagranﬂ Cr €2 C3 C1 Ce cs cs
Ideals for irreducible component#ﬂ)f Xpar

I = (0" —ul 4 +2u® — 2u® 4 1)

* 1 irreducible components of dim¢ = 0, with total 7 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u® — 4u* + 4u? + 8u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4
Cs, Co1 C8 07+ ub + 6u® + 5ut + 100 + 6u? + du + 1
co
Ca,C7 ul —ub 4wt 20 — 20 + 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4
Cs, Co, Cs Y7+ 1195 + 46y° + 91y* + 86y° + 34y + 4y — 1
Co
ca,C7 y" — % +6y° — 5yt +10y> — 692 + 4y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

= —0.850452 + 0.7937871

7.99979 + 2.921261

—2.20347 — 2.948581

—0.850452 — 0.7937871

7.99979 — 2.921261

—2.20347 + 2.948581
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0.676751 + 0.4910751

1.26782 — 1.832611

—3.77442 + 5.439141

0.676751 — 0.4910751
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1.26782 + 1.832611

—3.77442 — 5.439141

0.962510 + 0.9503971

—19.5871 — 3.48671

—2.02769 + 2.186001

= 0.962510 — 0.9503971

—19.5871 + 3.48671

—2.02769 — 2.186001

NS

= —0.577619

—0.745234

—13.9890




II. u-Polynomials

Crossings u-Polynomials at each crossing
C1,C3,C4
C5,C6, C8 u” 4 ub + 6u’ + 5ut + 100> + 6u® + du + 1
Co
C2,C7 u —ub ut 20— 20+ 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C3,C4
Cs, Co, Cs Y7+ 1195 + 46y° + 91yt + 869> + 343> + 4y — 1
Co
C2,Cr y" —y® 4+ 6y° — 5yt 4+ 109> — 6% + 4y — 1




